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• 𝑥 bal(𝑥) 𝑦
jobb(𝑥) 𝑧
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Inorder-fa-bejárás(x)

if xNIL

then Inorder-fa-bejárás(bal[x])

print(kulcs[x])

Inorder-fa-bejárás(jobb[x])

•
Inorder-fa-bejárás(gyökér[T]) 
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• 𝑛 𝒪(𝑛)
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Fában-keres(x, k)

if x = NIL or k = kulcs[x]

then return x

if k < kulcs[x]

then return Fában-keres(bal[x], k)

else return Fában-keres(jobb[x], k)



•
•

Fában-iteratívan-keres(x, k)

while x  NIL and k  kulcs[x] do

if k < kulcs[x]

then x  bal[x]

else x  jobb[x]

return x



•
• 

•
Fában-minimum (T)

x  gyökér[T]
while bal[x]  NIL 

do x  bal[x]
return x

•
• 𝒪(ℎ) ℎ



•
• 

•
Fában-maximum (T)

x  gyökér[T]
while jobb[x]  NIL 

do x  jobb[x]
return x

•
• 𝒪(ℎ) ℎ



•

•
•

•

•
if jobb[x]  NIL 

then return Fában-minimum (jobb[x])
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•
y  szülő[x]
while y  NIL és x = jobb[y] do

x  y
y  szülő[x]

return y
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•

•
y  szülő[x]
while y  NIL és x = jobb[y] do

x  y
y  szülő[x]

return y
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•
Fában-következő(T, x)
if jobb[x]  NIL 

then return Fában-minimum (jobb[x])
y  szülő[x]
while y  NIL és x = jobb[y] do

x  y
y  szülő[x]

return y



• ℎ
𝒪(ℎ)

•

• Fában-megelőző(T, x)
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•
ℎ

𝒪(ℎ)
•
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• kulcs[p]=k
• bal[p] = NIL
• jobb[p] = NIL
• szülő[p] = NIL

•
•



•
•

21

10

42

32

1614

157

36 21



•
•

21

10

42

32

1614

157

36



•
•

21

10

42

32

1614

15736



•
•

•

21

10

42

32

1614

157

36



•
Fába-beszúr (T,p)
y NIL; x  gyökér[T]
while x  NIL
do y  x

if kulcs[p] < kulcs[x]
then x  bal[x]
else x  jobb[x]

szülő[p]  y
if y = NIL
then gyökér[T]  p
else if kulcs[p] < kulcs[y]
then bal[y] p
else jobb[y] p
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•

•
if bal[p] = NIL vagy jobb[p] = NIL
then y p
else y  Fában-következő(T, p)

if bal[y]  NIL
then x  bal[y]
else x  jobb[y]

if x  NIL
then szülő[x]  szülő[y]

…



• Fából-töröl (T,p)
if szülő[y] =NIL
then gyökér[T ] x
else if y = bal[szülő[y]] 

then bal[szülő[y]]  x
else jobb[szülő[y]]  x

if y  p
then kulcs[p]  kulcs[y]

return y 
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• 𝒪(𝑛)
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• log2𝑛 𝒪(log2𝑛)
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•

• 𝑐1log2𝑛

• 𝑐2𝑛

• 𝑐1log2𝑛 + 𝑐2𝑛

• 𝑐2𝑛

• 𝒪(𝑛)
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•
𝑘,𝑚1, 𝑚2, … ,𝑚𝑛

𝑘
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• ℎ 𝒪(ℎ)
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• 𝑛

• 𝑛
𝒪(log2𝑛)



• 1,2, …𝑛
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𝑝 = 5,2,9,3,11,1,6,10,8,7,4

Ö 𝑝 =
1 + 1 +
2 + 2 + 2 + 2 +
3 + 3 + 3 + 4
= 23
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•

•
• 𝑓(𝑛) 𝑛

• 𝑓 𝑛ȁ𝑘 𝑘

•

𝑓 𝑛 =
1

𝑛
෍

𝑘=1

𝑛

𝑓 𝑛ȁ𝑘



k

𝑛 − 𝑘

𝑓(𝑛 − 𝑘)

𝑘 − 1

𝑓(𝑘 − 1)

𝑘 − 1 𝑛 − 𝑘

•



𝑓 𝑛 =
1

𝑛
෍

𝑘=1

𝑛

𝑘 − 1 + 𝑓 𝑘 − 1 + 𝑛 − 𝑘 + 𝑓 𝑛 − 𝑘

𝑓 0 = 0

𝑓 𝑛 = 𝑛 − 1 +
2

𝑛
෍

𝑘=1

𝑛−1

𝑓 𝑘

𝑓 𝑛 < 2𝑛 ∗ ln 𝑛 ≈ 1,39𝑛 log2
≈ 1,39𝑛 log2𝑛



• ≈ 1,39𝑛 log2𝑛

•

≈ 1,39 log2𝑛
• 1,39 log2𝑛 = 𝒪(log2 𝑛)

• ℎ = log2 𝑛
• ℎ = 𝑛

•




